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Pre-Calculus Homework #4 — Answer Key
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The relation is a function.

x-3]-1 forx >1

f(X)=4-x*-2x+6 for1>x>-3

_—2x—8 forx<-3
3

Relative Minima: (3,-1) Relative Maxima: (-1,7)

Domain: All Real Numbers or R Range: All Real Numbers > -6
Increasing: —3<x<—-1and x>3 Decreasing: x<-3and —1<x<landl<x<3
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g) X= 16
9)  The relation is a function.
f(x)=x*-8x+9
Relative Minima: (4,—7) Relative Maxima: None
Domain: All Real Numbersor R Range: All Real Numbers > -7
Increasing: x >4 Decreasing: X < 4

10) X= 64
) 77729
11) The relation is a function.
X* —14x+ 44 forx > 4
8 2
f(x)= —X+X—+£—8 ford>x>-3
3 2 6

—|x+5|+6 forx <-3
Relative Minima: (7,-5),(-1,-9) Relative Maxima: (2,-5), (-5, 6)
Domain: All Real Numbers or R Range: All Real Numbers or R

Increasing: x<-5and —-1<x<2andx>7
Decreasing: —5<x<-3and —3<x<-land2<x<4and4<x<7
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12) x=+/6,—6,i\7,-i\7
13) The relation is a function.
f(x)=-3Jx+5+4
Relative Minima: None  Relative Maxima: None

Domain: All Real Numbers >-5  Range: All Real Numbers <4
Increasing: Never Decreasing: x > -5
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14) X=064
15) The relation is a function.
3J-x+8-5 forx >4
f(x)=<[x+1-3 for —2<x<4
x> +12X+29 forx<-2
Relative Minima: (—6,-7),(-1,-3) Relative Maxima: None
Domain: All Real Numbers <8 except x #4  Range: All Real Numbers > -7
Increasing: —6<x<-2and -1<x<4
Decreasing: x<—-6and —2<x<-land4<x<8
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16) x=%/4,-Y3
17) The relation is a function.

X} x?

f(X) =—-——-06x
) ===

Relative Minima: (3,_—57) Relative Maxima: (—2,%)

Domain: All Real Numbersor R Range: All Real Numbers or R
Increasing: x < —2 and x >3 Decreasing: —2<x<3
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18) The relation is a function.

19)

Relative Minima: (-8,-12),(12,-9) Relative Maxima: (-14,9),(2,15)
Domain: All Real Numbers or R Range: All Real Numbers or R
Increasing: x < —14 and -8<x<2and x>12

Decreasing: —14<x<-8and 2<x<12

The relation is not a function.

Relative Minima: (3,-16) Relative Maxima: (3,-2)
Domain: All Real Numbers such that —11<x <17
Range: All Real Numbers such that —16 <y <-2



20) The relation is a function.
Relative Minima: (—4,-2) Relative Maxima: (7,12)
Domain: All Real Numbers such that —15< x <14
Range: All Real Numbers such that -9 <y <12
Increasing: —4<x<7  Decreasing: -15<x<—-4and 7<x<14



